KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
WELL COMPLETION FORM

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 5254	API No. 15 - 025-21344-0000
Name: MIDCO Exploration, Inc.	County: Clark
Address: 414 Plaza Drive, Suite 204	SE_SW_Sec. 3 Twp. 34 S. R. 23 East West
City/State/Zip: Westmont, IL 60559	660 feet from S / N (circle one) Line of Section
Purchaser: CLARCO Gas Co., Inc.	1980 feet from E / (W) (circle one) Line of Section
Operator Contact Person: Earl J. Joyce, Jr.	Footages Calculated from Nearest Outside Section Corner:
Phone: (630) 655-2198	(circle one) NE SE NW (SW)
Contractor: Name: Murfin Drilling Co., Inc.	Lease Name: Bisel Well #: 2-3
License: 30606	Field Name: Wildcat
Wellsite Geologist: N/A	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1938' Kelly Bushing: 1949'
✓ New Well Re-Entry Workover	Total Depth: 5750' Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 817 Feet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 25,000 ppm Fluid volume 600 bbls
Plug BackPlug Back Total Depth	Dewatering method used Vacuumed available fluids
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Oil Producers Inc. of Kansas
2/2/2	Lease Name: Rich C License No.: 8061
3/3/06 3/13/06 6/27/06 Spud Date or Recompletion Date Spud Date Reached TD Completion Date or Recompletion Date	Quarter SE Sec. 22 Twp. 32S S. R. 19 □ East ✓ West County: Comanche D-28178
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	n the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, eer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
Signature: Europy O	KCC Office Use ONLY
Title: Vice-President Date: 7/20/2006	Letter of Confidentiality Received
	If Denied, Yes Date: 72406
Subscribed and sworn to before me this 20th day of July	Wireline Log Received
20 <u>06</u> .	Geologist Report Received RECEIVED
Notary Public: Nancy L. Macyunas	UIC Distribution KANSAS CORPORATION COMMISS
Date Commission Expires: 6/24/2010 – IL	JUL 2 1 2006
Date Continiosion Expires,	305 7 1 7000

Side Two

Operator Name: MIDCO Exploration, Inc. Lease			e Name: Bisel V			_ Well #: _2-3	Well #: 2-3		
Sec. $\frac{3}{1}$ Twp. $\frac{3}{1}$			✓ West	County: Clark					
INSTRUCTIONS: Si tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether sh long with fi	ut-in pre	ssure reached	l static level, hydro	static pressur	
Drill Stem Tests Take		Y	es √ No	,	√ Lo	og Format	tion (Top), Depth a	nd Datum	Sample
Samples Sent to Ge	•	x Y	es 🗌 No no	++	Name			Top 4243	Datum - 2294
Cores Taken	ological callvoy	Υ		nailed	Heek			4243 4258	-2309
Electric Log Run		✓ Y			Lans			4445	-2496
(Submit Copy)					B/KC	•		5044	-3095
List All E. Logs Run:						naton		5062	-3113
Cement Bond	l I oa				Chei	okee		5228	-3279
	09				Ches	ster		5432	-3483
				.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	<u> </u>				
		Reno	CASING rt all strings set-c	RECORD conductor, su	✓ Ne		ction, etc.		
Purpose of String	Size Hole Drilled	Siz	e Casing t (In O.D.)	Weig	ght	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Conductor	34"	20"	(m O.D.)	LUS. /	: L.	84	Centent	Useu	Additives
Surface	12 1/4"	8 5/8"		23#		817	common A	450	3% cc
Production	7 7/8"	4 1/2"		10.5#		5643	Common H	325	10% salt & gyp 6# Kolseal
			ADDITIONAL	CEMENTIN	NG / SQU	EEZE RECOR	ID		
Purpose:	Depth	Туре	of Cement	#Sacks	1				
Perforate Top Bottom Protect Casing			· · · · · · · · · · · · · · · · · · ·						
Plug Back TD Plug Off Zone									
				1					
Shots Per Foot			RD - Bridge Plug Each Interval Per				acture, Shot, Cement		ord Depth
2 5476-88'					Acid frac 6.	,667 gal Hydrav	ris 25		
						1,334 gal Profra			
	7,000		****						
Manufacture of the state of the									
TUBING RECORD 2	Size 3/8"	Set At 5455'		Packer A	t	Liner Run	☐ Yes 📝 No		l
Date of First, Resumer	d Production, SWD or E	Enhr.	Producing Meti		✓ Flowing	Pump	oing Gas Lif	t Oth	er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.		Mcf	Wate			as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF (COMPLETIC	150 N			Production Inte	erval		
				protonag	parama.				DECENTA
Vented ✓ Sold	Used on Lease		Open Hole	✓ Perf.	_ D	ually Comp.	Commingled		RECEIVED CORPORATION COMM

CONSERVATION DIVISION WICHITA, KS

ING CO., INC.

Federal Tax I.D.#

REMIT TO	P.O. BOX 31
	RUSSELL, KANSAS 67665

SERVICE POINT:

Mili	the lodge	L
1. Lesic	ine lovar	2
		.,

23087

DATE 13 MAROL 03 34's	RANGE	CALLEDOUT 03:00 Pm	ON LOCATION	JOB START	Trop ======
0. 1	23w	03:00Pm	9:15 Am	2:45AM	JOB FINISH 500AM
LEASE Biese WELL# 4-3	LOCATION Ask /a	d PS 65 1	12 m	COUNTY	STATE
OLD OR NEW (Circle one)	12800		-w, Ninto	Clark	KS
CONTRACTOR MURGE #2					
		OWNER W	14 ca can		
HOLD CITE 776	1 (0.00 A (1.00 A)	Total - Comment		•	
CACINIC CITE ///	5750	CEMIENT			
TUDING CITE	77 N. ESPECIAL PROP.	AMOUNTOR	DERED 325 s	"H", 100	- 1. Low
DRILL DIDE DEL					
TOOI		mul Clem'c	and 500 gul	and Clause	12 500901
DDEC MAN 1 / OO				ava Crass	1904 Clapke
WIIIVI	MUM — E JOINT <i>38.8</i>	. COMMON	325 H	@ 11.50	3737.50
CEMENT LEFT IN CSG. 39'	2301141 38'8	POZMIX	Electric Participants	@	
PERFS.		GEL		@	
DISPLACEMENT 89 B6/s 2	% KCL water	CHLORIDE	A Mary Mary Mary	@	1
EQUIPMENT	TO NICE Water			@	
EQUITMENT		Gypse	al 31	@ 21.05	652.55
PUMP TRUCK CEMENTER D, Fel		Rolse	at 1750 -	@65°	1267.50
	<i>i'o</i>	-SAL+	35	@ 8.65	302.75
# 352 HELPER M. Coley BULK TRUCK		Mudela		@ <u>9.60</u>	2352.00
#356 DRIVER T. Gultry	1000	Mud Cles	m C 500 gf	@ 1.00	500.00
BULK TRUCK	16. Orieve	Cla P	10 9	@ <u>1.25</u>	625.00
# DRIVER				@ 25.00	225.00
		HANDLING_	* *		720
DEMARTS		MILEAGE Z	NED 435 A	C. 07	739.50
REMARKS:		KANSAS CORPORAT	TON COMMISSION	TOTAL	2/3/.50
Pipean Bottom, Break Circ	, Pump 500 gal			IOIAL A	12533.30
And Clean C, Pump 500 mude	Lena, Plug Rat	JUL 2	SERVICI		
mud Clean "C", Pump 500 mud C 4 mouse Holes, Mix 300 sx ce Wash Pump & lines Rale and	ment, Stop Pu	mps CONSERVATIO	NDIVISION	2	
12/20/0 KC/ unto Con 1100	19, Stant Wisp.	DEPTH OF JOB	1, KS 56	43'	Appendix of the second
w/ 20/0 KCL water, See life PS crease, Slow Rate, Bump F to the 2% KCL was a life	I stendily in	PUMP TRUCK	CHARGE	1-	770 00
to tal 2% KCL water, Release	109 at 89 B61	EXTRA FOOTA	.GE	a)	70,00
Pid Hold.	erst, Float	MILEAGE 70		5.00	350.00
		MANIFOLD A	adrental (80.00	80.00
			(00.00
CHARGE TO: Mideo Explore	4.			<u> </u>	
STREET		. (TOTAL	200.00
CITYSTATE				-	
	ZJP	рī	UG & FLOAT E	OHIDAGENER	
			OG & FLOAT E	QUIPMENT	
	_	1-1-1-1	. 01		
	4%	1-AFIIFI	In Plugassy. @	300.00 3	00.00
To Allied Cementing Co., Inc.	•	7-turblizer	260E (a)	200.00	200,00
You are hereby requested to rent cementi	no equipment	7- Centraliz	_	55.00 3	85.00
and furnish cementer and helper to assist	owner or	4,44,6		45.00	315.00
contractor to do work as is listed. The ab	Over work was	And the second s	w w		
done to set C at	ove work was				

done to satisfaction and supervision of owner agent or

CONDITIONS" listed on the reverse side.

contractor. I have read & understand the "TERMS AND

TOTAL CHARGE

DISCOUNT _ IF PAID IN 30 DAYS

TOTAL 1200,00

Federal Tax I.D.# 23350

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

Medicine LDG.

	Ties. Cittle LPC
DATE 3-4-06 SEC. TWP. RANGE 23W	CALLED OUT ON LOCATION JOB START JOB FINISH G:00 AM. 6:30 M. 9:00 M.
	COUNTY STATE
OLD OR NEW (Circle one) V/in To	Maria 65/1/2 W (1/2. K) 1/5
CONTRACTOR MURFIN # 2	
TYPE OF JOB SULFACE	OWNER MidCo Exploration
HOLE SIZE 12'14 TD 820	CEMENT
CASING SIZE 85/8 DEPTH8/7	AMOUNT ORDERED 2755x (65: 35:6+39
TUBING SIZE DEPTH DRILL PIPE 4 1/2 DEPTH 828	- CC / RETTO-S-1 1500ch 11-co
TOOL DEPTH 820	- GEL ICH CHILLIAMAER A LAST AA A
PRES. MAX 100 PSZ MINIMUM -	- V-11 A00St A+3%CM
MEAS. LINE SHOE JOINT GOFT	COMMON 450 A @ 9.60 4320.0 POZMIX
CEMENT LEFT IN CSG. 60 PT PERFS.	GEL 5 @ 15.00 75.00
DISPLACEMENT FORSHWATER 48 BB/S	CILICIDED
EQUIPMENT	ASC@
EQUITIENT	0113 0101123
PUMPTRUCK CEMENTER David W.	F10 Seal 69 * @ 1.80 124.20 RECEIVED @
#372 HELPER M: Ke B	KANSAS CORPORATION COMMISSION @
BULKTRUCK	JUL 2 1 2006 @
#363 DRIVER Greg K. Greg G. BULKTRUCK	CONSERVATION DIVISION @
#368 381 DRIVER Mark C. Thomses	——————————————————————————————————————
Tank C. Thomses	9. HANDLING 772 @ 1.70 /3/2 4r
REMARKS:	MILEAGE 70 x 772 X, 07 3782.80
	TOTAL / 3/25,65
P. PEON BOTTOM Break Circ Pum	D GERMAN
01051 (02:35:6+29010+4/14FAC	
-1005x A+2%00+2661-1000	0. /
W48BBIS WATER SOUT IN COME did not eine TOP OUT W//oc	RUMPTRUCK CHARGE 0-300' 735.00
5x 4+3%000+2% B=1+2000x	MILEACE 5/7' @ .60 3/0,20
ATAZZALLI U NO LA SLIPELLA	MILEAGE 70 @ 5.00 350.00 MANIFOLD Head Rent @ 80.00 80.00
Wash of Rig Down	MANIFOLD HEAD REAT @ 80.00 80.00
CHARGE TO Mila - PIA	@
CHARGE TO: Midco Exploration	
STREET	TOTAL 1475.20
CITYSTATEZIP	1 11
	8 5/8 "PLUG & FLOAT EQUIPMENT
	AFO Friser @
To Allied Cementing Co., Inc.	2-Centralizers, @180.00 360.00 2-Centralizers, @55.00 110.00
You are hereby requested to rent cementing equipment	1-RUBBET P/UQ @100,00 100.00
and furnish cementer and helper to assist owner or	100 of /inch @ 2.50 300.00
contractor to do work as is listed. The above work was	ANY APPLICABLE TAV
done to satisfaction and supervision of owner agent or	WILL BE CHARGED TOTAL 870,00
contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	UPON INVOICING
and the reverse side.	
	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DAYS
SIGNATURE & aviel & Marfield	
SIGNATURE JOS OF THE JUNE	+ David H May tield
<i>/</i> U	PRINTED NAME